5 Port Air Operated Valve

Series VZA4000

o L
5 i

Base mounted

___ “'

Specifications
Fluid AT
Operating pressure range (MPa) VZA4121' 4141 0.15t01.0
VZA4321, 4541 0t01.0
Pilot pressure range (MPa) VZA4121' 4141 0.15101.0
VZA4321, 4341 0.1t01.0
Impact/Vibration resistance (m/s?) Note) 150/50

Operating pressure < Pilot pressure
Note) Impact resistance: No malfunction from test using drop impact tester, to axis and right
angle directions of main valve, each one time when pilot signal ON
and OFF. (Value in the initial stage)
Vibration resistance: No malfunction from test with 8.3 to 2000 Hz 1 sweep, to axis and

£

Body ported right angle directions of main valve, each one time when pilot signal
Model ON and OFF. (Value in the initial stage)
Flow characteristics ©® )
: Port size 154/2(P>A/B) 4/255/3(A/B>EAJEB) - Algi e
Valve model Function Pilot piping
e c b ¢ c b c port size | ocation
(dm3/(s-bar)] v (dm3/(s-bar)] v
B [VZA4121-01 2 position Single 2.0 0.14 0.49 1.7 0.25 0.44
5 |VvzA4221-01 P Double 18 2.0 0.14 0.49 1.7 0.25 0.44 M5 x 0.8 | Body sid
= [VZA4321-01 3 position |-C10sed center 1.9 0.15 0.47 17 0.25 0.44 x 0.8 | body side
@ |[VZA4421-01 P Exhaust center 1.9 0.15 0.47 1.7 0.25 0.44
VZA4141-1-01 1/8 .
VZA4141-1-02 S 174 2.4 0.23 0.56 2.2 0.19 0.54 Sub-plate side
- X ingle
) VZA4141-2-01 9 1/8 24 0.23 0.56 22 0.19 0.54 Body side
T [VZA4141-2-02 2 position 1/4
& | P 18 2.4 023 | 056 2.2 0.19 0.54 Sub-plate sid
7 | VZA4241-1-02 Doub| 1/4 i : . : - E ub-plate side
< | VZA4241-2-01 oudle 1/8 .
£ [VZA4241-2-02 74 24 0.23 0.56 22 0.19 0.54 M5 X 0.8 Body side
o | VZA4341-1-01 1/8 :
° .
_g VZA4341-1-02 Closed 174 2.3 0.19 0.54 2.3 0.21 0.54 Sub-plate side
3 [VzAa3a1-2-01 osed center g
e Vaassatooz ] | T 23 0.19 0.54 23 0.21 0.54 Body side
@
o | VZA4441-1-01 1/8 )
£ haust conterl 14 2.3 0.21 0.52 2.2 0.22 0.52 Sub-plate sde
VZA4441-2-01 1/8
VZA4441-2-02 74 2.3 0.21 0.52 2.2 0.22 0.52 Body side

Note 2) Value at the maximum port size

Compatibility with universal porting is possible except for with the single type. | Q Note 1; Model number for base mounted style without sub-plate is VZA4T141-}.

JIS symbol
Body ported

2 position single 2 position double

Foot Bracket

Air operated valve model no. VZA4121-01-F

How to Order Manifold Base

Use the same manifold bases as the VZ4000.
[(GEIAZZC I ORREF LYY Specify the same manifold part number as VV5Z4.

A)(B A
ik e
5 13 s
(R1I}P)R2) (R1)(P)(R2)
3 position closed center 3 position exhaust center
(AXB) (A)B)
4 2 4 2
o 5 1 3 o o 5 1 3 o
(R1}P)R2) (R1)P)(R2)

Base mounted
2 position single

2 position double

+ To order valves and blanking plate assembly mounted onto the manifold, list valves and blanking

plate assembly with manifold base part number.
<Example: Body ported>
VV5ZA4-20-081-------- 1 pc.

<Example: Base mounted>

VV5ZA4-50-081-02.------- 1 pc.

VZA4121-01---.. o4 pes. VZA4141-2enn 4 pes
VZA4221-01---.. .3pes.  VZA4241-2..... -3 pcs
VVZ4000-31A-1 - eveee 1pCc.  VVZADOO-31A-2:wrwwvsmsnees 1 pe.

Sub-plate Assembly Part No.: VZA4000- -Sll%l
Thread type

Q * Mounting bolt and gasket are not included.

Nil Rc

N NPT

T NPTF
A Caution H G

(A)B) (A)B)
4 2 42
5 3 5 3
(R1)(P)R2) (R1)(P)R2)
3 position closed center 3 position exhaust center
(AXB) (A)(B)
4 2 4 2 3\/\
o 5 1 3 - o 5 1 8 o
(RIXP)R2) (R1)(P)R2)

:-Be sure to read ThTs_loao_re_hEn_dli_na. Refer to front matters 58 and 39-:
for Safety Instructions and pages 3 to 7 for 3/4/5 Port Solenoid Valve I
I_Precautions.

- Em EE Em EE EE EE Em Em Em Em Em EE E E Em Em Em Em Em Em Em e mm mm mm mm

Gentle Automatic Solution Sdn Bhd

Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



5 Port Air Operated Valve Series VZA4000

Dimensions: Body Ported

2 position single: VZA4121-01 2 position double: VZA4221-01
2x03.4
f 30.5 32 Mounting hole
I ‘ 2x03.4
NI ,f‘\ i 530.5 325 Mounting hole

wmmffﬁﬁ*v =) gl ‘
EREOTY |

Y %
Pilot port (A side) 17 o|® m"zljf g e —
M A )
5x0.8 38 77” g} \ﬁ [ {
Pilot port (A side) 17 Pilot port (B side)
Manual 2x M5 x0.8 3
(Non-locking) .18 18 2x035 Manual
Mounting hole override
— - (Non-locking) ) ) 2x@3.5
% T j{g/ Mounting hole
? | o &
32 —
7.5
| 14 14 5xRc % | 14 | 14 5xRc %
ey o [ \ N
DO 0.0,
L Vj@‘@‘é} Ei@i'@EQ)
= ‘ ‘
3 position closed center: VZA4321-01
3 position exhaust center: VZA4421-01
108
375 39.5
&
Q2 C"Jt (\i\\)} e RJ‘L (> @ Q\
’ T\
/ A
Pilot port (A side) / / 17 \ Pilot port
2xM5x0.8 2x034 38 (B side)
Mounting hole

2x 035 55

Mounting hole

vy

]
Hl

18 18

(Non-locking)

14 14 5xRc %

e
NI

-0

B o~
. NI
u{iﬂ
I NCA
e B

Gentle Automatic Solution Sdn Bhd

Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



Series VZA4000

Dimensions: Base Mounted

2 position single: VZA4141-[1-3}

M5 x 0.8 body side

2x04.5
Mounting hole

Pilot port (A side) ¥ !‘l-‘:m_ﬂ ® Eﬁiiﬁ?ﬂrﬁ;ﬁi—

3 . EEE.!

e |
® | ig=i== -”

) ':-I
@ 8, -1""1 £
N & g _— r
*L W OQQ
Pllotp_ort(ﬁ_swe) 3xRe %, Vi \'\ 1\2ch&
2 x M5 x 0.8 sub- plate side (PA Bport) ——— (R1, (RT,R2 pw-

2 position double: VZA4241-1-3}

: i’;‘:}[ T -FEL Q

3% :
Ll iRl 6 FERs I Pilot port (B side)
. AR {1 —femiRs{ ), 1B
Pilot port (Aside) Lz 1w | \ 2x04.5
2 x M5 x 0.8 body side m Eﬂ'__.q “Mounting hole”

1
I:-"_p”ot port (Aside) %;& FE;?é{S_T_I'{ / 3xRc %, X%
2 x M5 x 0.8 sub- plate side (R1, R2 port) (RAB port.) .
Pilot port (B side) kY

Sub-plate side

| FQP [\

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



5 Port Air Operated Valve Series VZA 4000

Dimensions: Base Mounted

3 position closed center: VZA4341-[1-3}
i 08 —

Pilot port (A side)

2xM5x0.8 body side

| T
,f;ilot port (A side) M a"'l 3xRec g, Ja

- R1, R2 port) (P A, Bport)
2 x M5 x 0.8 sub-plate side P
X X subpiate side Pilot port (B side)

Sub-plate side

3 position exhaust center: VZA4441-1-3}

' 54

A

| 1 Fil I - -
' i | FTF.E‘ i ELI‘:E%F/ Pilot port (B side)

Pilot port (A side) I_."" | i S ~ Body side |
2xM5x0.8 body side

Py

26 2x 045

Mounting hole

E_

/Pilot port (A side) J
2x M5 x 0.8 sub-plate side (R, R2 port) (P A, Bport) | )
Pilot port (B side)
Sub-plate side |

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



